أوجد ناتج ما يلي .. عندما a=2  , b=-3
1. 
(3a2 – 5a) – (2a3 + 3b)2
= ( 3*22 – 5*2 ) – ( 2*23 + 3(-3) )2
= ( 12 – 10 ) – ( 16 + 27 )2
= 2 – ( 43 )2
= 2 – 1849
= 1847
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2.                                                  y= -1    ,     عندما :2  =א


 5 א2 – 2y2 + 3        5 22 – 2(-1)2 + 3 
ـــــــــــــــــــــــــــــــــــــ = ــــــــــــــــــــــــــــــــــــــــــــ
     ( 2            ( 2 – (-1) )2

     20 – 2 + 3        21          7
= ـــــــــــــــــــــــــــــــــ = ـــــــــــــــــ = ـــــــــــــ
                3            9                    32                      

